B RZHERAE B
RESREHBXARERY SHTE7A1BRE

OFRUNERR, R, BHHRIEFR)

. : e . BEMALLELRSOME | WEIBFOFE
No. E%%@%ﬁ'\ E%%@LLE E%%@Fﬁﬁ ﬂ'ﬂTEanﬁ@ﬁﬁ@%ﬂ\ IZﬂT%)"ﬁ"é’EU)EWﬂﬁ@ﬁﬁ% W.;é_". %fjﬁﬂ#,ﬁﬁ ﬁ%%
= N - (—BH) BAREH K HRIcLH BT
gﬁ"ﬁfﬁi‘d\ﬂ* %‘"ﬂzﬁ’.”—/ Bl mm |#mous)—rEREMOREDEL| Is/so= 101 CruSe= 0.780
i TIX = # |[ZFEDH D FE2REWIE12001 E /R 1s0=0.7
x - (— B BARBEH K BRI L5 HE
g'}ﬁf’i-_‘d\ . ?r‘“‘g?zgigfﬁﬁ— B gL — EREMOHEBEL| Is/Iso= 102 CruSo= 0728
TIx = # |12 B E2 R 12001 FhR 1s0=0.7
X (—E#)Eﬂiﬁﬁﬂﬁﬁi tmr( ctérﬂ%ﬁ
%ﬁfﬁ-_‘d\ o fﬁgﬁgﬁfﬁﬁ B L) — EREMOHEBEL| Is/Iso= 117 CruSo= 0835
FIX #IZEDH BT E2RBEE 12001 ERR 1s0=0.7
V2 X [ue] = (—E#)Eﬂiﬁﬁﬂﬁﬁi tmr( ctérﬂ%ﬁ
?E'Emfjﬁﬁ** ﬂi{ggﬁm*”ﬁ 2R BB —MEREYOTMEDER| Is/Iso= 102  CruSo= 0.726
= TI% % |IZE B E2 R W% 12001 E R [s0=0.7
V2 X INSTE S (_E#)Estﬁﬂﬁ(«Tﬂnr( ctérﬂ%ﬁ
ngfjﬁﬂ* EWET’%%@“:L'E iR BB —MEREMOMEDEE| Is/Iso= 1.07  CruSo= 0.760
= AR TLtF # |IZEH B E2RL W% 12001 R 1s0=0.7
- . - (—B) BAREH K HRIc L5 BT
%Tﬁlﬁiﬁ# %"T@fé”—/ Bl om |#moos)—rEREMORELEL| Is/Iso= 107 CruSe= 0.760
T = % |IZE DB BE2RE W% 12001 R 1s0=0.7
+ x b A = (=B BREEH KB RIS DHBEF
g?ﬁg;ﬁﬂ* FOTENEAT ] g |amoos)—rERENOHRBIE Is/lso= 100 CnSo= 0715
FIX #IZEDH BT E2RBEE12001 ERR 1s0=0.7
= . e (—B) BAREH K HRIc L5 BT
g?ﬁ;’g;ﬁﬂ* AT | s |swas o) —rEREROMEBEL| 1s/1s0= 102 CuSo= 0829
FIX #IZEDH BT E2RBEE12001 ERR 1s0=0.7
- (—B) BAREH K HRIc L5 BT
f“jg'ﬁ gﬁgﬁ%g’%ﬁg iR BB —MEREMOMEDEE| Is/Iso= 1.05  CruSo= 0.751
F L= #IZEDHBIE2RLEE12001 E-R 1s0=0.7
- Ry (—B) BAREH K HRIc L5 BT
ﬁgf;ﬁﬂ* TRrESOTR | s |emo o) —NERENOHEBELE ls/lso= 113 CnSo= 0852
B E AR T # |12 B B2 R HETE 12001 &R 1s0=0.7
- = 3 (—B) BAREH K HRI- L5 BT
QEEQL** éﬁgfﬁﬁ*i*‘“ AR B o) —NEBREMOTMEZEE| Is/Iso= 1.14  CruSo= 0.800
AT X #IZEDDFE2REWE12001 FHR Is0=0.7




Ol - 2R

. . s ST LB \o)tﬂs MERSEFOFE
B (—Bh) BABREN K BRI & BBEE
é?ﬁgig" ;"‘;Tﬁf BRF R b B —MEREYOTEDEE| Is/Iso= 124  CnSo= 0.753
/m 7R 77 7T 2 # | [SEH B E2RLWE 12001 E R 1s0=0.6
ORTIL, KREE
. . - BERNLeESRsomE | WRIBFOFE
No. Eﬁ#@o)%% Eﬁ#@@{i% Eﬁ%@ﬁaﬁ fﬂﬁ 9 @ﬁlfo)%ﬁ‘ I:ﬁj—é?é'limn;{ﬁ@#% m?é": %ﬁﬁﬁ%, ﬁ%%
BFHRTIL
= (—BH) BAREEWRBRIZLEEEE
a%f?”ﬂi KIEFIEFERF R |BEAYIU—MERENOHEDEE| Is/lso= 102 CrSo= 0.640
= 2365 T # |12 BT E2 RS 12001 E R 1s0=0.6
- (—Bh) BABREN KB BBEE
5= ARAS R BEUMI VU —MERENOTES| | 1o~ 102 CruSu= 0.280
(SRC:&) Wi EE | (S B E2RBME 11997 | S/ 1507 T U= U,
EREGENTEHDBS) 1s0=0.6
BFENLRTIL
BiE - Di& (=B AREENKXIHRICSSEEF
(RCE) KIS TIEF B 5 L gﬁ:yb'J—F;J:L%!F%@ﬂﬁTEV&ﬁ% Is/Iso= 1.03  CruSo= 0.630
= BT E ~T) # |25 8 BT E 2 RES W% 1(2001 4 4R) [s0=0.6
(—ENBAREEFKIFGECKDEEFK
Ci BT o) — FLL%%G)WEVE@?
(SRCi&) B |[SEHBE2RBWIE (20094 | Is/Iso= 1.02  CruSo= 0.500
= k)
GENFIEMH - EXEHDBE) 1s0=0.6
= =% —— (—Bh) BAREN K BRI LT
;;_IE%’”“’?%” égﬁngﬁ+ ATV |#EEBI I ERENOMESEE| Is/Iso= 1.02  CruSo= 0.640

EZEDBIE2R2H% 12001 F/R

[s0=0.6




